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BRERX % = B 5 z a &t

1 FRURF T 1% Pl 2,376 2,776 5,152
2 TR NEFERSF 1,169 1,348 2,517
3 FEHEER 1,333 1,368 2,701
4 eI 1,481 1,342 2,823
5 7—9 TS Y% 1,319 1,273 2,592
6 KMINERR 1,054 1,157 2,211
1 FIFF IR 2,250 2,354 4,604
8 MEEIZI2a=TsEVE— 2,239 2,124 4,363
9 FHIZIa=TasEUE— 2,700 2,538 5,238
10 T B ey o gy A e 471 533 1, 004
11 ERUIZaz=FsEU5— 18 1 149
12 HER/INER 1,357 1,415 2,772
13 BE/IER 1,061 1,107 2,168
14 FEIZa=-T14tU5— 382 391 173
15 WMEIZa=T1sE25— 1,394 1,372 2,766
16 tFEAIZIa=T1EVE— 1,046 1,123 2,169
17 ZHREE 635 646 1,281
18 HRIAZa=FTst052— 2,730 2,704 5,434
19 SHIZI2=ZT4EUE— 1,571 1,494 3, 065
20 FEIAZIa=TsEE— 538 563 1,101
21 KlUazZa=F4t25— 155 174 329
22 EESMBLVEUE— 117 105 222
23 FRIEEREL 2 — 60 51 11
24 EmEIZIaZTAEUE— 148 143 291
25 tEazaz=F1sEVE— 316 352 668
26 FfEAII =TV E— 490 543 1,033
21 mEAIIa=T4EVE— 394 390 184
28 AMRIZTa=T1sE25— 121 139 260
29 FHIZIa=-T1st25— 211 203 414
30 FEFENER 550 585 1,135
31 *tFAZaz=T1EUE— 461 468 929
32 Bz az=TstEUE— 348 423 171
33 FAHEE 2 — 117 101 218
34 BEMIZI2=ZTsEUF— 162 149 311
35 BB EAREE 147 171 324
36 ZH/INER 643 677 1,320
37 78 LI BT = #5 R 131 141 1,472
38 RER/INEEAR 346 362 708

a B 32, 701 33, 482 66, 183




